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Test pendulum (test018.mph)
phi=4mm

l=1000mm

a=200mm

Sapphire
rho = 3970 [kg/m^3]
nu = 0.25
E = 470e9 [Pa]

Gravity

•Solid Mechanics
•Bounday Load: NOT Harmonic Perturbation, 
Frequency Domain, 100N in tat

•Mesh
•Physics-controlled mesh
•Normal

•Study 1
•Stationary
•Not include geometric nonlinearity

•Eigenfrequency
•Number of eigenfrequencies = 12
•Initial values of cariables solved for
•Solution
•Study 1, Stationary
•Automatic

•Frequency Domain
•Frequency = 0.01, 0.01, 10 Hz
•Initial values of cariables solved for
•None

Prove point
for TF
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Thermal noise of test016 and test018
The difference between these two model is just the calculated frequency band.
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TCHCB
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